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QUESTION 1

When would be the best time to run an Exadata health check (exachk)?

100% Real QandAs | 100% Real Pass

A. before patching, before upgrades, before backups, and on a regular basis

B. after patching, after upgrades, and after backups

C. only when advised by Oracle Support

D. before and after patching, when advised by Oracle Support, and on a regular basis
E. only after a hardware failure

F. monthly and after a hardware failure

Correct Answer: D

QUESTION 2

What are the three customer options for hosting the Platinum Services Advanced Support Gateway?
A. Install on Exadata Engineered System.

B. Provide individual x86 64-Bit gateway hardware.

C. Install in Oracle Virtual Machine with required hardware.

D. Install on Oracle Database Appliance.

E. Purchase the recommended x86 64-Bit gateway hardware from Oracle.

Correct Answer: ACE

QUESTION 3

What are two impacts of selecting high redundancy over normal redundancy for your diskgroups?

A. High redundancy provides more usable storage.

B. Normal redundancy provides more usable storage.

C. High redundancy gives you better I/O performance.

D. High redundancy provides High Availability (HA) during disk failure and rolling Storage Server patching
E. Normal redundancy provides HA during rolling Storage Server patching.

Correct Answer: BD
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QUESTION 4

You are calculating the storage capacity that your customer will require on their ZFS Backup Appliance. Identify the set
of factors that will affect this calculation.

A. database size, fulllincremental cycle, RPO (Recovery Point Objective), and RTO (Recovery Time Objective)
B. database size, retention period, RPO (Recovery Point Objective), and compression

C. database size, full/incremental cycle, compression, and retention period

D. database size, compression, and backup window

E. full/incremental cycle, retention period, and ZFS Backup Appliance model

Correct Answer: C

QUESTION 5

Which three migration options are available when you migrate a database from the Big Endian format system to
Exadata?

A. Data Pump Export and Import
B. transportable database

C. transportable tablespaces

D. Data Guard

E. Insert as Select

Correct Answer: BCD
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